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yown 2n12a — With a sloping wall

Overview

X127 explained the 71wn of 121 XMp 7. The reason we consider the 790 at rest
in the 1"n7, is because it landed on a y:wn Ym>. The question MHLIN
addresses is: any object in a 1"117 that is 2ndY WA 77917 is either a n°on1o (if
it is '7 2m0) or a MW opn (if it is less than '7 2mN), and ™» 7%vnY it is never a
3", so how does it help that it is resting on a ¥9Wn N3, since it is not in a
20

1Ry 29DNDR 292 A IPRT PN 11920 I — The o' says that this is a
case where the public adjusts their burdens on this sloping wall
293977 N M777 — it is therefore considered a 9"m.!

Summary:
An object in the 7", upon which people adjust their burdens, is considered

a part of the 7";71.”

Thinking it over
1. Why doesn’t '01n say that it is a 7"77 since it is a wall in the 7"77, and
anything that is on the side of the wall is considered a 2";777?’

!'See 91 Ty XMW MR K,1 M, see also 19°K2 71"7 2,7 'O

%910 here does not mention the qualification that X719 requires on X,1 77, namely that it has to be "o 723
(oordv).

3 See " TDIPT 12927 X701 21 MK X,T A, see also 12°KR217"7 2,7 "0 at the very end.



